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Ritp:/farbe i tu-berlin. e/ CEGAICEGAL ONA.TXT /.PS: start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu4 standard lightnessl*

Ya=Yw - nc=100,

I* L ABINDU4 =IN(A 17+ A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L agaNDua =IN(A 15+A2 ) (A2Aon)  (X=YIYL)
1 (3.6)=146 ) ,(18)=332,* y(90)=517

Iog[l* /I* J=0, m;=0,33
* =49, I* ;=332

:*90_517 21, Al 504% 0,1044, G=0,42
*16=332,22, A=0/ A7, 50,0058 -
I*3,6-146,11), =37 §22 {=18 : ?gr?g"ga"m

L] =1

win=02 'xy=5

LABJINDu4

tristimulus value difference

Yoc=Yw nc=100,
I* L ABINDU4 =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU4=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:Aon(A1n+A2nY):A0n(A1n+A2UX) X:YIYU
Aon 06515, Aona=1.0, see CIE 230:2019

<
4
I* =332 dY,=0,16 dY,/Y,=0,0092 -
4

log(dY)=0,16 m,=0,93
dYge=0,79, Ay=1,5, AZU_M.044' ¢=0,42==
dY;g=0,16, A~ 0007 =0,0058 ?ppllcauon
dY36=0,04 Y,=1°,4Y=0,16

XN=0,2

log (AY/Y) LABJINDu4

_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU4 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDU4=IN(A 17+ A2) (Ao Aon) - (X=YTYy)
AYY=Agn(Arr+AonY)Y=Agn(Ag A )Y
(dY/Y,=0,0088, Ay=1,5, Ay =0,1044, ¢=0,42
(dY/Y)g=C 0092, A=0,007, A4,~0,0058
(dY/Y) ¢=0,0216 Y,=18, dY=0,16

| log(dY/YE-2,03 S50e _ application

S -
I* ;=332 dY,=0,16 dY,/Y,=0,00921 %)”99
1
1

1x,=1

xN=0,2 Xw=5

LABJINDu4

tristimulus value contrast

Yoc=Yw nc=100

I* L ABINDU4 =IN(A 17+ AR Y)/(A2nAon)  (Ynd/100<Y<=Yno)

I* L ABINDu4=IN(A 17+ A2) (A2 Aon)  (X=YTYy)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(YIdY}o=113,39, Ay=1,5, Ay =0,1044, ¢=0,42
(Y/dY)g=107.58, A=0,007, A4,~0,0058
(V/dY), 85,65 Y,=18, dY=0,16

I*,=332 dY,=0,16 Y,/dY, 107

log(Y/dY)}=2,03 m=0.0% = =~

C,=(Y/AY)

application

LABJNDu4 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

11 ABINDU4=IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)
1* | ABaNDua =IN(A 10 +A2 )/ (A2iA0n)  (X=Y1Yy)
1 (3,6)=146 * ,(18)=332 1% y(90)=517

I* ogfl* ;=1,55, Ay=1,5, Ap,=0,1044, ¢=0,42
I*1¢/* (=1,00, A,=0,007, A,=0,0058
I* 3 g/I*=0,43,1* =332,22 Y=18

log[I*/I* ;]=0, m,=0,33
L* =49, I¥ =332

log(AY/AY,) LABJINDu4 relative

tristimulus value difference
INNG VoS VEL,
1L ABINDU4 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU4 =IN(A 17+ A2) (A2 Aon) - (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYog/dY,=4,74, Ay=1,5, Ay=0,1044, ¢=0,42
dY;g/dY,=1,00, A,=0,007, 4,=0,0058
dYsgdY,=0,25 Y,=18 d\=0,16
16 dY,/Y,=0,0092
.
1
1 application
1 range
Ix=1

Xw=5

log [(AY/Y) 1 AYIY),] LABJINDu4 relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YIYL)
(dY/YY(AYIY)=[(A 1+ A ) XJI(A 17+A20)
(@YY SY/Y)=0,94, Ay=1,5, Ay =0,1044, ¢=0,42
(dY/Y)g(dY:)=1,00, A,y=0.007, /4,=0,0058
(dY/ngel(dY/Ybfl.ZE Y,=18, dY=0,16

Iog[(leYy(dY/YL] -0, m=-0,01
1 application
I,=332, dY,=0,16 d¥,/Y,=0,0002; X

=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDu4 relative

tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

(YY) (Y/dY)=1,05, Ay=1,5, Ap=0,1044, ¢=0,42

(Y/dY)g¢/(Y/dY)=1,00, A ,=0,007, A,;=0,0058

(V/dYY, e/(Y/d\q,:o 79 Y, 218 dY0,16

LABJNDu4 standard lightnessL*

YoeL*w -~ nc=100

L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/L00<Y<=Y,c)
L* 1 aBanDua=IN(A 10+ A2 X) (Ao Aon) - (X=YTY)
L* (3,6)=146L* ,(18)=332,L* ,,(90)=517

* =49,L* =332
v ]
L*gg=517,21, AL F /Sgu_o 1044, ¢=0,42
L*15=332,22, A =0 407, A,=0,8058
L*36=146,11L%,=F 222\(1 181

[ 1 =1

application
range

=02 Txy=5

CEG41-1A
logAY) LABJINDu4

AY tristimulus value difference
Yo=L*w  ne=100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Ync/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 )/ (A2 Aon)  (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X:Y/Yu
Aon,pes=1,5, Aon a=1.0, see CIE 230:2019
7, ot <
L* =332 dY,=0,16 dY,/Y,=0,0092 -~
4
log(dY)=0,16 m,=0,93 7
d¥90=0,79, Apr=1,5, Ay J“4.044' ¢=0,42=

dY;g=0,16, A~ 0007 ,.2 =0,0058 apphcauon
dY36=0,04 Y,=1°. dﬁ 0,16

XN=0,2

CEGA41-3A
log (AY/Y) LABJINDu4

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1nt A2 X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0088, Ay=1,5, Ay =0,1044, ¢=0,42
(dY/Y)g=0,0092, A=0,007, A4,~0,0058
(dY/Y} =0,0216 Y,=18, dY=0,16

_ application
~range

|
1x,=1

XN=0,2 Xw=5

CEG41-5A
log (Y/AY) LABJINDu4

_ tristimulus value contrast
C=(Y/AY) YomLh vy =100
L*Laganpua=IN(A1n+A2nY)/(A2nA0n)  (Yac/100<Y<=Y,o)
L* LaBaNDua=IN(A 15+A2 ) (Ag Aon) - (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

(Y/dY}yo=113,39, A=1,5, Ay=0,1044, ¢=0,42
(Y/dY)g=107,58, A=0,007, A=0,0058
(Y/dY} 85,65 Y,=18, dY=0,16
L*,=332 dY,=0,16 Y,/dY, 107
log(Y/dY)=2,03 m=0L2 -~~~
application

CEGA41-7A
CEG41-7N

LABJINDu4 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* L aganDua=IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)
L* aBaNDua=IN(A 1+ A2 X)/(AoAgn)  (X=Y/Yy)
L* (3,6)=146L* ,(18)=332,L* /(90)=517

L og/L* =1,55, Ay=1,5, Ay =0,1044, ¢=0,42

L* 1g/L*,=1,00, Ap=0,007, A,~0,0058

L*3 gL*,=0,43 L =332,22 {18

log[L*/L* j]=0, m,=0,33

L* =49, L* =332

CEG41-2A
log(AY/AY,) LABJINDu4 relative

tristimulus value difference

AYIAY, Ve irl
L*LagaNDua=IN(A1n+A2Y)(A2rAn) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 10t A2X)(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

dYoy/dY,=4,74, Ay=1,5, Ay=0,1044, ¢=0,42

dY;g/dY,=1,00, A,;=0.007, A,=0,0058

dY;,¢dY,=0,25 Y,=18, dY=0,16 )

¢

16 dY,/Y,=0, 0092 7
application
nge

=1

XNn=0,2 Xw=5

CEG41-4A
log [(AY/Y) | (AYIY),] LABJINDu4 relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpua=IN(A 1ntA2 ) (A2yAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(AY/Y)o/(dY/Y)=0,94, Ay=1,5, Ay =0,1044, ¢=0,42
(dY/Y)g/(dY/Y)=1.00, A=0,007, £5,=0,0058
@YYy g(AY/Y)~1,25 Y =18, dY=0,16

Iog[(leYy(dY/YL] =0, m,= .
* =332 dY,=0,16 dY,/Y,=0 0094 SR

=1

XNn=0,2 Xw=5

CEGA41-6A
log [(Y/AY) I (YIAY),] LABJINDu4 relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*LaganDua=IN(A1n+A2Y)(A2rAon) (Yo 100<Y<=Yyo)
L* L aganDua=IN(A 10+ A2 ) (A2yAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YY) (Y/dY)=1,05, Ay=1,5, Ay =0,1044, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A;=0,007, /5,=0,0058
(Y/dY}g(Y/dY)=0,79 Y,=18, dY0,16

CEG41-8A

TUB-test chart CEG4; LABINDyY4*(Y) & L*(Y), Yn=(Y&L*) wnc x=0,43, with more data
Absolute and relatlve Ilghtness sensmwty and contragt=A>5, An=0, 007 Agn—O 0058, /&u—o 10
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